Y4 - Autumn - Block 1 - Step 9 — Compare 4-digit numbers Answers

Eva has the smaller amount of drink.
She only has 4 thousands but Tommy has 6 thousands.

il
il

™ H T (o] Th - T (o]
[-I-l=I=][e]e][ ] o000 00
e |©00|0 e |09 Q0

@ @
o O
7,000, 4526
a)
b)
c)

a) is greater than
b) is greater than
c) is less than
d) is less than

CarB
Both prices have 4 thousands and 7 hundreds but Car B has 9 tens compared to Car A
which has 8 tens, so Car B is more expensive.

a)
b)
c)
d)

e)
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Teddy is incorrect. Scott’s number could also start with a 7 or it could be 4,751 or 4,715

a) Oorf

b) 7,80r9
c) 0,1,20r3
d) any digit

a) 89

b) 1,23,4,5
It could possibly be O but discuss with children that this is not how we conventionally
write numbers.




